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3% It 2 F¥1 H, TR 3% it 2 F991 H, i 37 qict 1 §97 F a9 ¥ 3HE
FI7 1 597 7 faoheq 39cieer & | 08 Jo71 § 3719 BT U fdHeq F & I
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General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qus A
SECTION A

1. Y9 # gwEqudr & o7 7 2 1

What is meant by ‘Effectiveness’ in management ?

2. AN ArEd g foh had 3IcaTg’ ST g TIUUE B Tehdl 8 | g 38 AR fohelt
R 1 faquE oft & GehdT B, S ‘TaTEeT WA o [T e quTRE | gEEnEy,
7&l fepgrent fouur &1 w1 R | 1

People think that it is the ‘Product’ only that can be marketed. But
something else can also be marketed, e.g. Visit Kerala for Health
Tourism’. Identify what is being marketed here.

3. Touwm fiys o s o & U H oI’ w1 o1 @i | 1
HAYAT
S Hvh 1w A B 2 1
Give the meaning of ‘Price’ as an element of marketing mix.
OR

What is meant by ‘Public Relations’ ?

4. S G % TH YF % &9 H 4G AW o I T 50 @ i AT 3T
St @ T 20 @ W AIAN Sk H WO 7 | DI AW AN B W FHE
fafiee 3 o794 wuar TMYRehT I W ¢ 1 fAvR foRm weg 3 steed
BT & 1A Seh = ATHRN YA W iy em e |
oy vl R aaifad e aTet 38 Res <kl g hifsie ek g faetia
S I dE fAfiRe grRr e YA W ey e 6 TR S i
TS | 1

As a part of its capital structure, ‘Venus Ltd.” had ¥ 50 lakhs as Equity
Share Capital and a loan of ¥ 20 lakhs from Neon Bank. On earning a

good profit, ‘Venus Ltd.’ decided to give dividend to the equity
shareholders but were surprised when the Neon Bank imposed
restrictions on the payment of dividend.

Identify the factor affecting dividend decision that allows Neon Bank to
impose restrictions on the payment of dividend by ‘Venus Ltd.’

3 P.T.O.
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5. T e IWNehd AT IR, I« Teh T & TaqEl o 91 HTGHTReh GHSN
I U1 R TG AT TN I8 Th UH I6g 1 3TN Tohem Tgent orgare st o
ISR HHET ST AT | 364 T o FIgrl sl T o fear qun o8

gugid ¥ 9ie g T |
JTST U H HIYFTA &ehlad hl Sociid shIfaT |

Mark Nar, a Latin American, while closing a business deal with a
businessman from Spain, used a word which was considered offensive in
Spanish when translated. This made the Spanish businessman upset and

he backed away.

State the semantic barrier to effective communication.

6. AT AYH ST o Teh WNT & &9 0 Fiwan fafues’ 7 w5 foilw o 5 aw
31U FARH ST o FaHTd o | fspament (nfdafafy) it ue =€ ufe et |

ST 6 bR hl IgETHT |

As a part of its comprehensive plan ‘Neerja Ltd.” decided to combine a
new line of activity with its existing footwear business.

Identify the type of plan.

7. ‘puerar i aRriya Hife
Jrerat

T T W Y& & feheal & 1 T 3g@ I |
Define ‘Efficiency’.

OR

State any two functions to be performed at supervisory level of
management.
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8.

10.

11.

Tfd % MUR W IAGANGH WS4 qd1 IHI=eh qled H 3= T

IV | 1
AAAT
‘Tohet ST ASET qAT TR AT H 3 o YR W =R T hifvim | 1
Differentiate between ‘Formal Organisation’ and ‘Informal Organisation’
on the basis of ‘Nature’.
OR
Differentiate between ‘Single Use Plan’ and ‘Standing Plan’ on the basis
of ‘Meaning’ .
Qus o
SECTION B
Ye=l o =01 S 6l foregl o9 famisarst =1 "9emsT | 3
HAAAT
Ffed (shifaeh) Tomg FE=0T’ ol T 351801 1 HERA § HHATSY | 3
Explain any three features of the controlling function of management.
OR
Explain the ‘Critical Point Control’ with the help of an example.
foregl o Tl W “oFawer’ qun faehedietor | sradg Hife | 3

Differentiate between ‘Delegation’ and ‘Decentralisation’ on any three
bases.

EAH TeTTSell 3o Ul aTel T o Sl o FHIAT § | T o Sl ohl

A 9 Wl @ Hilh AN A& & @ 8 o e @reed & fag sm=st T8

2 | 398 WA % §o1 % Iaared # g g2 7 | fasew & g @ & fo
A Temsels Uk 3SR ar@ (hfge) Hifd &t @won i It 5o ok
Shatatl sl i ATg i @ (shfse) i B |

ITYTE h TR § TG TeluTsa shi ShRIsfd S STavasharedl i TIfaa
T AT G B I T HINT | SRV Afgd 3g@ e foh 3w vgam

T SHehi oh TNUMHEEEY SRS YSil hl ATTwIhd e BFIT a1 4 | 3

5 P.T.O.
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12.

13.

Steelone Enterprises is manufacturing high quality steel utensils. The
demand for steel utensils is rising as people are getting aware that
plastic is not good for health. This has led to increase in production of
steel utensils. To encourage sales, Steelone Enterprises declared a liberal

credit policy which allows three months credit to its wholesale buyers.

In the light of the above, identify the two factors affecting working capital
requirements of Steelone Enterprises. State with reason, whether the
factors as identified above, will result in high or low working capital

requirement.

&Y o fesm S & fhedl 419 fomwanst 1 sg@ $ifsw |
HAAAT

U T TSIt § IR % fohegl o9 IR 1 3gE I |

State any three features of directing function of management.

OR

State any three measures to improve communication effectiveness.

UL HIh! HANIH Teh HIH! g3 @l & S YR o d1d Tl H Hrpia
2 | T SR § wfaaifir 1 gere g gu ot o1 Tt et e %
e ¥ 394 o foham @ | SR 1 U hd qen Icured fawm, emgfd
G TG AT GWR-TA TawT, svg veed faum don fasea fawm 2 | 3|
G § ToRaTeHeh HIeIal § YR g7 B, FI(eh HHAT 319 HRIEH § fawg
o9 Y | 3 forfvree wfteror ot fean S whdr ot wiifeh A8l ged g foarg i
goft < hiercl W o |

T HIB! HIUNIE % HTSACHS G sl TgaM I | T & IuYh A=
T gfdd o1l o AT 39 g & o9 317 &l o1 3gd@ ot hifsu |
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14.

Roasted Coffee Corporation is a coffeehouse chain operating in seven
states of India. Through its effective organisational structure, it has
grown despite pressure from competitors in the national market. The
company has a Purchase and Production department, Supply chain
management and logistics department, Brand management department
and Sales department. This structure has facilitated operational
efficiency, as employees became specialists within their own realm of
expertise. They could be imparted specialised training as the focus was
on limited range of skills.

Identify the organizational structure of Roasted Coffee Corporation. Also
state the three advantages of this structure other than those discussed in
the above paragraph.

Qs u
SECTION C

St fafiee v fova wal g=m1 aeftes 1 womeienht weat g R 45,000

Hoal 600 ¥ 31y UghH HI 23 M H AW YGH KA 7 | 39h TA

FHRIHR HR Fid gua F wA b fafadieor qon faem % faw g gemest

qeh ATTeIH fear foes 98 gived=y I il YRd 6l T 7ot HFat 59 T8 |

HIT A T FHATT I TS U0 HgeR gHfvaa w 7g TRl H

ferteor fopam 2 |

SHhT ‘Tioiee Mg T 52 fedt w1 wsh wifua ufverr sriswn 2 | 98 fofie

TR ATt @i U GEEIl I ITEvIS ARG AT dehdlehl hivrdl H

yfsteror 4 & fou yEarfead fomam ST @ S 3= Hsiid IR IRAISHIST § R

T o TIC QIR HLAT & | dohelohl, UL qAT YEEehT M1 & 0T 39 T

#1 frgie fovafoaremi qon yoyg deam@i @ 6 St ¥ | I8 i SRy AU

HHATNET hl ST & N, INEw, SE U7 Fa8™ 8 Iifud Sie T4 ™ |

e g H S8R Hidl ® |

(%) T HH=TET I FIRE o6 TIC HEOT gRT TN Ty, 7T Wl & el |rai
& g™ il |

(@) 9 (%) | 989 U 9ol o @id & ITAM g1 g Toht, 0 she=nia
& gfvreror & fow et g g 6 8 ufste fafa = g |

(M) @ fedl & il &1 Ig@ Hife S8 T meew T’ S

ferfiee =t anyTfeard ¢ @<k |

4

7 P.T.O.
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Xeno Ltd. is a global information technology consulting company with
45,000 employees serving over 600 clients in 23 countries. Its Chief
Executive Officer, Neil Suman, guided the company through two decades
of diversification and growth to emerge as one of the leading Indian
companies in the software industry. The company has set standards in
ensuring the best training opportunities for its employees.

Its ‘Project Guidance Program’ is a 52-day structured training
programme. This is offered to all recruits of varied backgrounds to be
trained on essential behavioural and technical skills that prepares them
to work in live customer projects. These recruits are hired from
universities and management institutes for technical, professional as
well as managerial jobs. The training programme helps the new
employees in settling down quickly into the job by becoming familiar with
the people, the surroundings, the job and the business.

(a)  Identify the external sources of recruitment used by the company
to hire new employees.

(b)  Explain the method of training used by the company to train
employees selected by the source of recruitment identified in part
(a).

(c) State any two ways in which the ‘Project Guidance Programme’
can benefit Xeno Ltd.

15. ‘foxii@ SR o gl OR M1 ol THEST |
STraT

e gfafa wa fafma 91 o i IR geaTs q91 i 9] =mes &l
%! FHST |
Explain any four functions of ‘Financial Market’.

OR

Explain any four protective and any four regulatory functions of the
Securities and Exchange Board of India.

16. ‘E.uA.Tsy, fafmes’ & yag e offccy @raen qen foaxfi seue o gl
FHEAT o sk et i et Ry I Tt &7 o6 R H W= o @ o |
e @reer 1 fo=m o o6 am 1 fream 45t aTer # foran s =nfee, St
wfgard 89 & SroT Tow g w1 "o of fob oe ot faw ger e § feean
ST 3ferd BT | TR tdfeaEen Icpg off, yay fewes 4 o gf i iR
HT Toh 3¢ Ichg AYITEAT T AW ISMT MY TAT =S Afhal i ITH




EI5E

i
T o fIT Ot aToR 6 frem e =g | sida: ffshs s & Ot SR @
Frow & =1 fofa foram |

(%) HII i ThE ThR & U T HT HEAT AT 2

(@) 3By AAFTEAT § ISl TR GRI 3T=s fqhal shl HHEHT F=1 Bidt 8 2
YT T IeeT@ HITT |

(M) zW SR | yfeyfeRt ggT IR Y erue fhat gifra & @ w2 4

Aditya Khosla, the Managing Director of ‘D.L.W. Ltd.” and Rajesh Puri,
the Finance Manager were discussing about avenues of investing the idle

funds of the company. Aditya Khosla was of the opinion that money
should be invested in the capital market whereas Rajesh Puri, being
more conservative, felt that it would be better if the investment was
made in the money market. Since the economy was buoyant, the
Managing Director convinced Rajesh that they should take advantage of
it and invest in the capital market to get good returns. Ultimately it was
decided to invest the idle funds in the capital market.

(a)  What kind of instruments should the company buy ?

(b)  Why is the capital market expected to give a better return in a
buoyant economy ? State the reason.

(c) Why and how safe are the securities in this market as compared to
the money market ?

17. Touom & F=fafaa st o sg@ il 4
(%) SR TEeft FEAT ThHHA BT T 3T FIeeryor e
(@) foqum feem
AT
“Hifaen foraeor § Fofareti & SuHAIST Toh a¥qali o Wifdeh -3 & $S
o GEHTId & |7 9 Fehl o AT &dTd 8T 3kl 319 ST | 4

State the following functions of marketing :
(a)  Gathering and analysing market information
(b)  Marketing planning

OR

“Physical distribution includes some components for physically moving
the goods from manufacturers to the consumers.” Name and give the
meaning of these components.

66/3/2] 9 P.T.0.
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18. It Sigen 4 wRa § forren fed’ < yey Fdeeh 1 SRR F9TE | ST
oo geae arett T fed’ fied 40 auf @ oot Sad™ X W@ 7 |
3ok fofire <ol # &fta wrte 8, T &9 e 39 & Y gl
@IS T & | Ifh I8 Th a1 Tl 7, Ad: ST Ay il geaes
S Tehd IS Sl 379 & & TTEeh! o Hed & [T @d w1 i oF
1 AR o T 7 |

“Topan fred’ Afdesr w8 & TdUSs  GvTfad HHcel 1 IIad =gdl & ad
Tl ! aER H @M o Ty 38k fofu s = dfgar foemm g | ot <t
AN T HE KA IHI Gt HHETET 91 918 GeEdl bl I=dH AR delT
SR TGS o HIUCS! o HTIR H1H HEAT AAYIH & | THHI e 7 i W

gl €8 qun e FuIy afriferd 3 |
“fora e’ g0 3T9HTT U AT Sy & feheal @ fagidt sl gHeEmsy |

Damini D’Souza took over the reins of ‘Kinsa Retail’ as its Managing
Director in India. ‘Kinsa Retail’ with its headquarter at Japan has been
in the retail business for the last 40 years. It has regional offices in many
countries that take care of the shops in that region. As it is a large
organisation, the regional officers have been given the powers to decide
and spend funds sanctioned to them by the headquarter for the welfare of
the customers of their region.

‘Kinsa Retail’ wants the highest possible standards of ethical conduct
being followed, for which a code of conduct is in place for putting values
into practice. All employees as well as Board members are required to act
in accordance with the highest standards of personal and professional
integrity when acting on behalf of the company. Non-compliance involves
a heavy penalty including termination of employment.

Explain any two principles of general management being followed by
‘Kinsa Retail’.

19. U TF 3 AT FAHH U S dTel WIE HI TH DI qAT gaAT@ (WeTA)
oefia ¥ g feomea foen | wefiai & 99 & fotw 3E@ 31om 9/ & W@
g foram S et ® 50% AW % |y ufEen & foefem % fore weua @
T | 939 ! SR § IdrA & U 35 foawr & goaet gresy o1 <=4 foma |
38 ITH HI FHU-TgY H AW e | yug 9 # IAH IgE 39 Afuwhan
AT HAMT AT | 384 w3 % faawor % forw 2w W # 30 wiwfera fospeepatent
i gRE AT | TI TosRT AEAT Sl QU R b [T IaiH Toshaehdisti i
TicTe qeT JUEhR JEaiiad fehu |
(%) HU-THY gR IH foh U foqu-ge h1 qeee HI |

(@) HU-UHW gHI IFAN FoRaT 7o oA w1 dreq (fafafy) gg=ne |

(M) W@ e @ ot w1 Igw A 5= fasmaedtett i fgfe & fog
PU-T-HY GHT A T T@T AT EA |
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20.

Tapas Sen, a manufacturer, redesigned his existing soup making
machine into a small and portable machine. For selling the machine he
entered into an agreement with his uncle who agreed to finance the
project with a 50% share in the profits. To launch the machine they
decided to start with direct channels of distribution. They named the
venture as ‘Cup-a-Soup’. In the first year their main objective was profit
maximization. They appointed 30 trained salesmen for distribution of the
machines across the country. They offered incentives and awards to
salesmen for achieving their sales targets.

(a)  Identify the marketing philosophy used by ‘Cup-a-Soup’.
(b)  Identify the tool of promotion used by ‘Cup-a-Soup’.
(c) For hiring the salesmen, state any two qualities ‘Cup-a-Soup’
would have kept in mind.
v §
SECTION D

aeud, fava 6 g%aad HHEl § | T, had TeTgas &I HIESR]
IR & | ITh! ThaTdT hl HaT1 i Hel-Hifd Earest €9 feam T o |
I8 AT AT AT I YR HT I Rl & S 39 HE HI T
3Heh! TEAT < FoHTcHh AT TITH €4 § T Thd @ | 98 UG o TGl hl
YT 1 T B hl qAT TS Dl T GANN shi IATT a1 B |

gz aft gEaa waT g 99 Ufaea aifeafaei ot ik i 1 Aawhdl Bl
2 | 99 T QU1 €9 Y IEYIH 7 8 98 ATUHR HT WA T8 HLl | 9§ T
AT g TeAfaEt g9 <1 8 1 3 38 T A o | 98 3! THe T @ e
3 TU 7T SR 6l QU A %k TTT STewereh =T JgH L | |

(%) TSHA G SIS TS Ffea el 1 TE=H HI |

(@) ToF 6 FEar § SR & TN W MGG g 3T Aqcd ATl
THETST |

11 P.T.O.
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Handsen is the CEO of ‘Newcastle Enterprises’, one of the world’s most
successful companies. His success stories have been well documented. He
chooses highly motivated and capable managers who can perform their
tasks creatively and adequately without his help. He allows the group
members to work on their own tasks and resolve issues themselves.

He intervenes, but only when needed to correct an unfavorable situation.
He does not use power unless it is absolutely essential. He even allows
mistakes to happen for his people to learn from them. He supports them
and supplies them the required information to complete the assigned
task.

(a)  Identify the leadership style adopted by Handsen.

(b)  With the help of diagram, explain the other two leadership styles
based on the use of authority.

21. Yo=Y bl forgl uT= fomiwdnati shl guesy |
arerat
Y= o 39 fIfie 3ewal <l guemsy f9=2 98 919 1 =18d B |

Explain any five characteristics of management.
OR
Explain the various objectives which management seeks to achieve.

22, FAA Uh YUSfad A A BT AR oft | ITA A Iuctey oy
Tugfoa TRel i AfF hl a1 qoIi hl g1 i dllch Tk FlgEATgl qel
Al ol oo ST S | $Heh TRET 98 U % U SR H HUsad 2
GleH T | T Giow T 6 A4 38 TEl A fog @ | ghHeR A 39
fafia 2t fo@m iferd a7 oTH-area wife foht T Howr & 31f¥res W =ar @1
A1 | GHMER & STa=ld i o YA 98 o hl HH HU4 H T%o g5 | Th
ITERA IR Sl TG I ITG & foTC Y <hl 718 TN o et § har vy
S giT <t qAT TE D W A T | Tobl WieH W 3 T FyH gieaent fireft,
SR 3e9 TrauTigd® eT | 38 UT IHH & I T Th-UH w
e foham o o1 ufEr & fou o=t ag @ e fohr U R dvefaw
91T |
(%) &3 BM H A1 * fafics gua g e T feed @ SRt

IFE I |
(@) 3w feafa ° afda foredl @ fesrt =t wwesT |
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Suman wanted to purchase a sandwich toaster. She checked about the
various sandwich toasters available online and compared the prices so
that an intelligent and wise choice could be made. Then she went to a
nearby market to buy the sandwich toaster. Being an informed consumer,
she looked for the correct standardisation mark. The shopkeeper showed
her different toasters but was quoting a higher price than the price she
had checked online. After negotiating with the shopkeeper, she was able
to bring the price down. As a responsible consumer, she asked for a cash
memo, against the amount paid for the product and took the toaster
home. On opening the package, she found an instruction booklet, which
she read carefully. Then she followed all instructions step-by-step and

made nicely toasted paneer sandwiches for her family.

(a) State any two responsibilities, which have been discharged by

Suman, besides asking for a cash memo.

(b)  Explain the two rights being discussed in the above case.

Qus q
SECTION E

23. R g&aden forma sEeh ffa-famsi qen wwowen & wror Sifad g |
TSI, TR, 378, SIS o FEARICT gRI SHTT T FEdehell I¢ATE 7 had]
<1 H 9N fohy ST & ATUG 9.7, IR, S, I.oh., B a0 fava & o1
oot | ot frfa few S 2 1 39 Icurel o ffa i uen @ uawa o ymaE
T a1 AT ATawaeh fogeh g1 o1 o faerar & | Yo waft =med & T
EEAhell I bl dohdlehl o T TSHT HHT ([GAR {hIT ST | SHHT hrg
farg fomioft wisken 1 wiafda e, Reheu &1 gHfTaa wE a9 FasedHi

! AYTHET T AR |

STt ITog § UihAl 1 3gYd Hd §U AR TAERY % foheal 9R
! <l FHATST | 6

13 P.T.O.



G

24.

25.

India’s craft heritage is surviving because of its customs and traditions.
Craft products made by craftsmen of Rajasthan, Gujarat, Assam, etc. are
not only used in the country but are also exported to USA, Germany, UK,
France and other countries of the world. The volume of exports of these
products gives India an advantage in balance of payments and the much
needed foreign exchange. The Prime Minister desires that the handicraft
industry should be expanded by linking it with technology. Focus should
be on changing the manufacturing process, ensuring durability and
adopting innovations.

Quoting the lines from the above paragraph, explain any four dimensions
of the business environment.

= ufskar < fafim =xon wht gHemsT |

HAYAT
yery i TgRe ufshan’ & & fafie =won =& avemse |
Explain the various steps in the ‘Process of Selection’.

OR

Explain the various steps in the ‘Process of Staffing’ function of
management.

T I H WA SEET 3 90% W qeh Gga o HEweehlal T&d o a1y HRH
I A FRF AW G Th IAIDMH FFgEE A H TMfyd fhAr | 3E9 39
SIIET 1 =T 39 IROM & 91 TR o 37l 2 — 3 99T 0 21 Fanati hl /i
IR TN ¢ AT | 39 ARG AT Sl U B b [T I8 AT A fohet
A AT STHTT bl STTUUGYT ohidT o1 31T fohel o 1 Tgam ST o
AT H3T IIFATTAT o HIT SThTHRAT o T TodT Y § 3Tehedl Il AT |

Ig =S e W AMd gC Tob w1 hl amidfep i # afads o swror sgam
G Thd &, S TITYE HF(1 o TATEl ol garTcHeh HoTehd Jfd 319 3T,
ST AT, AT YT, 37f o R W TR |

STTH AT TG U T o Ueh Y oh HS TN hl ==l hl g 8 | ITAh 3o0g

Y Yfthal 3gYd Hid B §9 =N ! hHIoBhATG &9 H THLAET |

14
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Saurabh Jain set up a telecom business in Nasik, named as ‘Ketone’, with
an ambitious target of reaching out to 90% of the Indian population
within one year. He chose this business on the belief that the demand for
data services will increase 4 times within the next 2 — 3 years. To fulfil
such an ambitious target, he had to either acquire an existing telecom
business or collaborate or go independent aggressively in the light of

tough competition.

He assessed the proposals of different companies vis-a-vis earnings per
share, tax liabilities, dividends paid, etc. and their future projections,
knowing fully well that the projections may change if the country’s

economic policies get modified.

The above paragraph discusses some of the steps of one of the functions
of management. By quoting the lines from the above paragraph, explain

these steps in chronological order.



